As  you can see on the figure the accounting flow arrive on  Vip .89. This kind if traffic must balance to all three servers, creating a sticky table N°1. the vip.91 balance to the second server farm with the sticky table 2.

I need the Vip.91 for only the tcp traffic and the Vip.90 for udp traffic. Both this vip can follow the sticky table 2. I must do this division because the server 10.10.10.1 doesn’t accept the traffic UDP, but can proxy the accounting it receive to another ip that in this case is Vip.90.

Accounting traffic: 

1. Vip .89 balance on vip.91 creating sticky1. V.91 balance on 20.1 or 20.2 creating sticky2. 

2. Vip.89 balance on 10.10.10.1 creating sticky table 1, then 10.10.10.1 proxy accounting on Vip .90 that balance it on 20.1 or 20.2  creating the sticky table 2

Tcp traffic and udp traffic
1. In the first case of accounting traffic, if the traffic is tcp the Vip is .89 so the tcp traffic follow the sticky 1 first and the sticky 2 and everything is ok. If the traffic is udp then the Vip is .90 so the traffic follow the sticky 2.
2. In the second case of accounting traffic, if the traffic is tcp than vip.89 send the traffic towars the real 10.10.10.1 as sticky 1 and the server 10.1  answer directly; if the traffic is udp than the vip is .90 and the traffic just follow the sticky table 2
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